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22, Y f 29. x-intercepts: —1.79, 0.11, 1.67; local
N maximum: (-1, 7); local minimum: (1, -5) 3. Tt should
=y ; / “ 30, x-intercepts: —2, 1; local maximum: (1, 0); previous
ﬁ local minimum: {—1, —% 3:;13;3;;
/ | 31, x-intercepts: —2.83, 0, 2.83; local maximums:
Bt (-2, 4), (2, 4); local minimum: (0, 0)

, : —1.73, 0, 1.73; local maximums: (-1.73, 0), (0.77, 4.46);
?:C;:Eltngfﬁs (—1-07.77, -4.46), (1.73,0) 33. x-intercepts:. —2, -1, 0, 6.9 GQ:DE
1. 2: local maximums: (—1.64, 3.63), (0.54, 1.42); local mlmmums:_ - 6. f(ll) f:;) f
(~’-0 ,54, —1.42), (1.64, -3.63) 34.. ,}c-mtercepts. —1.5:;, —0.351, ;f&g,moca N \M/‘

- : (0.61, 3.62); local minimums: (——1.QS, -3.03), (1.94, -0.03) LA
DAy . 36. reaches a local maximum at (1.85, 14.04) and 14\ :
P2 Speed”(‘?ff‘"’t"m‘rﬁe‘f! a r;iinimum at (4.25, 11.98); from 1991 until 6
s 1 abouf 1993, the number of pounds of oranges
é 2f At eaten per person increased to about 14 1b, This 8. f()f(2)
3 1/ amount then declined to about 12 1b in 1995, ~12-39-
; }; when it began to increase again. =27 27
4 : 0 t




23. (-0.5, 0.5) max, (0.5, —0.3) min;
-0.9,0,0.6;3

24. (-2, 0) min, (-0.5, 5) max,
(1,0) min; -2, 1; 4

25. (-2, 1) min, (0, 2) max; 1.4; 3

26. (-2, 2.4) max, (0, -1.2) min,
(1, -1) max, (2.4, -2) min;
-25,-1,3,5

27. (-2, -1) max, (0, -2.2) min,
(1, -2) max; none; 4

28. (-2.8, 1.9) max; (0, 0.25) min,
(2, 1) max; 3.8, 2.8, 4

29-36. See Additional Answers

beginning on page AAT.






